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ORFUHESEERE AR

. X4 —AR{ERA EHREAAKER EFMEMNER |FI-REXIEXES| MAPRELUT | FKEREFER | FottEeEH 5
5 A% 5 AR {8 AR 5 AE 15 AH %% A8 145 A 5 AH
AHEE 8 559 15 258 5 100 11 586 7 166 46 1,669
=1 1 50 2 24 2 17 1 5 6 96
fo=2 0 0
AEE-RE 19 560 11 102 8 153 12 506 1 1 51| 1322
30 |E1HEE _ 10 188 i 30 11 218
FE2UHEE 1 6 1 6
=A== 101 515 101 515
BAE 28 464 12 196 7 138 12 777 2 10 61 1.585
&t 56 1,633 142 1,101 0 32 596 35 1,869 2 10 10 202 277 5411
HEHER 198] 2734 145] 2,688 %FEH
BRER 79 2,677
&t 277 5411
EARIIA 779,000
pupe X4 —ARfER EHEARER EFEMER |FT-BREXTELEE| BTARRELT | BKaREER | TothERER 5
H5 AE 48 AE 8 AE HE AH 5 AH i A# 55 ANE 45 ANE
KHE=E 20 1,080 13 281 9 327 7 359 49 2,047
FE1 3 165 2 20 3 168 5 9 358
=2 2 148 2 148
HEE-RE 19 343 12 168 4 60 10 557 2 26 47 1,154
29 [E1HHEERE 3 106 1 25 4 60 3 172 2 39 13 402
FE2HEE 3 6 3 6
fE={RERE 97 520 97 520
(EREES 37 814 6 148 4 60 15 771 4 136 3 31 69 1,960
=11 85 2,514 131 1,162 0 12 180 42| 2,143 4 136 15 460 289 6,595
HHHER 216| 3,676 152] 245515
e {56 A 73] 2919
it 289 6,595
fE A FHRA 957,299
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X o) % K woR it
IERAMBMIRELSE 9,261,841 9,261,841
1ERBAIE 1,750,357 1,750,357
ERBRBETLS 10,523,307 10,523,307
EERETSE 1,782,616 1,782,616
HEE(HRERSE. RGEEE, —REEE) 2,935979| 3,280,900, 6,216,879

&t 13,948,177| 15,586,823| 29,535,000
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